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for i=0 to 2n:
C[i]=0
for i=0 to n:
for j=0 to n:
C[i+j] += A[i]·B[j]

return C; .Θ (
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b = f1g1
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zexrd.zeniyx izy xyxyl xyt` f` ik dniyxa oexg`d xai`l riavn mb mixney minrtl •dvetp div`ixe.m
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 dniyxzipqgn(O (1)) zipqgnd y`xa xai`d z` xifgn - Top •.eze` mixifgne zipqgna oey`xd xai`d z` mi`iven - Pop •.zipqgnd y`xl x z` mitge
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.First In First Out : FIFO - xez.Last In First Out : LIFO - zipqgn1 libxz.dwix zg`e d`ln zg` .zeipqgn izy yi.dpey`xd z` owexne dipyd zipqgnl dpey`xd zipqgnd lkez z` xiarnd mzixebl` eazkoexzt.dwix S2 ,d`ln S1 :hlw1 libxz oexzt 3 mzixebl`.T dwix zipqgn xevip
while S1.notempty():
T.Push(S1.Pop())
while T.notempty():
S2.Push(T.Pop()) .S1a mixai`d 'qn `ed n xy`k Θ(n) :dvix onf2 libxz.1 'qn yi`n miligzn .lbrna mi
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2 libxz oexzt 4 mzixebl`
Q = empty queue
for i=1 to n:
Q.push(i)
while Q.not empty():
for j=1 to k-1:
Q.Push(Q.Pop())
print(Q.Pop()) .Θ(nk) :onf zeikeaiq(zeieti
r xez) dnixr

O (lg n) - push •

O (lg n) - pop •

O (1) - top •3 libxz.O (n lg k)a zg` zpienn dniyxl zeniyxd z` ebfn .n jxe`a zepienn zeniyx k zepezpoexzt.hltd jxrnl eze` qipkdle zelgzdd lk oian xzeia ohwd xai`d z` `evnl 
rv lka mivex.i1, ..., ik - dniyx lkl miriavn k wifgpy jk r z` `vnp mrt lk
Lr [ir] = min

s∈{1, ..., k}
{Ls [is]}.1a ir z` m
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H = empty heap of pairs (ribd xtqnd dpnn dniyxd ly qw
pi`de xtqn)
i1, ..., ik = array of integers
for i=1 to k:
ij=0

for j=1 to k:
H.push(Lj [ij] , j)

for x=0 to nk-k-1:
(a, j)=H.pop()
output[x]=a;
ij++
H.push(Lj [ij] , j)

x=nk-k
while H.not empty():
output[x]=H.pop()
x++; :zeikeaiq.(nk − k)Θ (lg k) = Θ (nk lg k) `id ziy`xd d`leld4


